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I a) i. continuous
ii. dd¥= - 2n
iii. F = - 2n

iv. a
= - 2n ⇒ a = 0

v. 5- = -2101=0 ⇒ unstable b/c 040
I b) i. discrete

ii. Ncn) =L (Ncn-1))

iii. F = In

iv. R = IN ⇒ n= 0

v. F' = 's ⇒ stable b/c I < I

1C
.

i. discrete

ii.
.

nln) = 2mn- 1) ( I - acn -1 ))
iii. F = 2nd - a)

iv. N = 2m11 - n)

n = 2n - 2nd
2ns- n = 0 ⇒ n= 0

,
I

v.
F'( o) = 0 ⇒ stable b/c -1C 0<1

F'(E) = 2 ⇒ unstable b/c -1 ¢241

Id) i. continuous
ii. dd¥= 2all - a)
iii. F= 2nd - n)

iv. a = 2n( 1-a) ⇒ 2=0
,
I

v. Flo) = 0 ⇒ unstable b/c 0¢ O

F (E) =L ⇒ unstable b/c £40


